gogbbobooogd
gb gd

000000 300000 MOUOOOOOOOOOO0OO (Doo0)0ooooMOoOdooooooo
(O0)OO00oO0DoOO0oUO0DO000DDO0000O0U00O0OD MOODOUODODOODODOOOOMOOOO
gboboooboobooboobooobooboooooooobooboooboobooooboOooooboooDn
000000oooDOoo0o000ooDODOOb0o0000oD Gabai OOOOODOOOOOOOOOO2
obod Ry, R,O000 ROODODOOODOODODOODOOR, RR,OOD0O0ODO0OOOCODOODOOODOOD
ooooooooo

000s200000000000000000000000000000000000000000O0
oboooobooooobooboooogon

e 000000 (1000000D0D0O00)0D0D00D00O0O0 $20000000000000000
0000000000000 000000O0000O0O0U0LO0O0000D (OODooooUooo
000)0000000000000000000D00000S*0000000000000000
goooobooobooboooboooooooooboooboooboobooobooboboooooboboOoD
gbooobooboooobobooooboooobobooooboon

““obooboooobooooobooobobooobboOoooboooobOoOobbO0oobDOoobobOoOobooboooo
gbboobooobooobooboooooboobooooobooooobooobboobooooon
ooo”

e Harer 00 00“3000000000000000OOOON) 0DO0OO0OOOOOOOOO()O0OO
00000000 [(HOoooolo(3) stallings twist 00 0000000000000 O0O0OOOO
0000’ 0000000000000O0OO0”00 (3)0U00”’00U0OO0OOUOUDOOOO ¥00
00 Stallings twist 000 0000X 00000 ¢0 S 000000 disk0000000O00O0O
Dehn twist 000000000 cO00D0 diskd X0000000000000000O0C Stallings
twist UDO00O0O00O0D000OHarer 0000000000000 DO0OO0O0ODOOO

“000 10 stallings twist 0000 (1)0 (2)0 10000000000 OO”

MDODOOOOOOOO 300000000 O0MODOOODOODOODODODOODOOOODOOOO
obooooooooboooobooMOoOobOOobOOoobOOobooobobobooboooooooooboon
o0o0o00DooOd00Growx OO0O0OMOOOOOOODOOOODODOOODOODOOOODODOOOO
00MOO0OO0OO0OOO0OOD(O0O0)000010100000000000000000000O0O
O Harer 00000000 O00OOOCOOOOOOODOODOO

e 0010 10000000O0OOCOODODODO Stallings twist 00 O0O0O0OOD0OO0OOCOOOO
overtwisted 0000000000000 00O0OOO0OO0OO (OO0 overtwisted DOOOOOO
00000)0000000o0000oo00oUoooUoooooo

“O00000000000000 overtwisted DODOO0ODOOOOOOO0OO0O0O0O0ODODODDOO
OO0 Stallings twist 00 0000000000000 O0O0ODOOOOODOOOOODOO”

e DOODODOD overtwisted OO Stallingstwist 0000000000000 DOCOOOO

“O00000000000000 overtwisted DODOOODOOOOOOO0OOOOOOODODODOO
OO0 Stallings twist 000 0000000000000 0O0ODOOOODOOOOODOO”

000000 (0o pPD)C00DO0OOOOUOOUOCOOOUOOUOOODOOOODOOUOOOO arc
O isotopy DOD0O0 arccomplex 0000000000 OO0ODOOODOODO translation distance 0000
ooooooooooooooooooon

“0000000000000D00000000000 2000000Stallingstwist 00000000
ooooogoboooo 3oog”



